Write a paragraph or two on what you learned.

4.2 - Ethan E
4.10 - Ethan K
4.17 - Gershon
4.28 - Kayla
4.42-Josiah
4.54-Josiah

5.8 - Kayla

5.24 - Ethan K
5.41- Gershon
5.61 - Ethan E

Present an initial drawing (if CAD drawing, better!) of the learning/demonstration kit the
elementary school kids, or at least show me at least 4 ideas you might have found online.
Remember, your device is centered around an idea from water parks.

The effect of viscosity on the properties of pancake batter

The effect of temperature and pressure on the viscosity of ice cream
The effect of viscosity on the flow of liquids

The effect of pressure on the molecules of a viscous liquid

b=

In this homework assignment we learned about the forces created by static fluids exerting
pressure on their containers. We also learned about buoyant forces created by the force of a fluid
pushing up on an object that is either partially or fully submerged. The weight of the object is
compared to the buoyant force in order to determine whether it will be fully submerged, partially
submerged, neutrally buoyant, or not buoyant. Another thing we learned and solved was the
effects of a fluid being exerted on a curved surface instead of a straight and flat one. We used the
formula developed in class for this purpose to assist us in the calculations and to present
complete and correct answers.



4.2

4.2 The flat left end of the tank shown in Fig. 4.21 is secured
with a bolted flange. If the inside diameter of the tank is
30 in and the internal pressure is raised to +23¢ psig,
C:!|L‘u|;1[r: ||1r,' total I’nrﬁ.‘u that st be rcxi.-;Tcd h},' the bolts
in the flange.

Fopn - (2)(52)
F = 16631864

FRIURE 4.21
and 4.2,

Tank for Problems 4.1
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5.61
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5.61 A boatisshown in Fig. 5.33. Its geometry at the water line FIGURE 330 Problen 5 61
is the same as the top surface. The hull is solid. Is the boat
stable?
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